
PHONE: (816) 741-6600 • (888) 526-5657 • Fax: (816) 741-1061   
4304 Mattox Road • Kansas City, MO 64150 • www.civacon.com  

1300HS Series Cane Probes 

PA
R

TS
 B

R
EA

K
 D

O
W

N
 

Rev. +, July 2009 

ITEM PART NUMBER DESCRIPTION QTY.  ITEM PART NUMBER DESCRIPTION QTY. 

1 C40034-XX** OPTIC SENSOR ASSY. 1  11 H50534M-8B CABLE TIE 1 

2 H50815M JUNCTION BOX, “L” SHAPE 1  12 C40269M KNOB 1 

3 H50816M GASKET 1  13 C52322A CLAMP 1 

4 H50817M JUNCTION BOX COVER 1  14 D52321M CLAMP WELDMENT 1 

5 H50796M REDUCER. 3/4” - 1/2” 1  15 C52404M HAND KNOB 1 

6 H51012M STRAIN RELIEF 1  16 H50114M SCREW, 1/4-20 3/4” 1 

7 H51011M COILED CABLE, 18 GA 1  17 H52324M SCREW, 1/4-20 3/4” 1 

8 H50271M 7-WAY PLUG W/ SPRING 1  18 H52637M SET SCREW, 1/4-20 3/8” 1 

9 H50287M CAP SPLICE 5  19 H52638M PROTECTOR 1 

10 H50336M TERMINAL PIN 5      

** XX equals length of sensor assembly 

Standard Lengths: 
1300HS-0020 
1300HS-0062 
 

Special custom lengths available upon request. 



PHONE: (816) 741-6600 • (888) 526-5657 • Fax: (816) 741-1061   
4304 Mattox Road • Kansas City, MO 64150 • www.civacon.com  

1300KMLS-0062  Cane Probes w/ Kamlok 

PA
R

TS
 B

R
EA

K
 D

O
W

N
 

Rev. +, July 2009 

ITEM PART NUMBER DESCRIPTION QTY.  ITEM PART NUMBER DESCRIPTION QTY. 

1 C40034-62 OPTIC SENSOR ASSY. 1  10 H51012M STRAIN RELIEF 1 

2 633D-AL20 KAMLOK COUPLER 1  11 H51011M COILED CABLE, 18 GA 1 

3 C40269M KNOB 1  12 H50271M 7-WAY PLUG W/ SPRING 1 

4 H50080M O-RING 1  13 H50287M CAP SPLICE 5 

5 C40268RA ADJUSTING NUT 1  14 H50336M TERMINAL PIN 5 

6 H50815M JUNCTION BOX, “L” SHAPE 1  15 H50534M-8B CABLE TIE 1 

7 H50816M GASKET 1  16 H52637M SET SCREW, 1/4-20 3/8” 1 

8 H50817M JUNCTION BOX COVER 1  17 H52638M PROTECTOR 1 

9 H50796M REDUCER. 3/4” - 1/2” 5      



PHONE: (816) 741-6600 • (888) 526-5657 • Fax: (816) 741-1061   
4304 Mattox Road • Kansas City, MO 64150 • www.civacon.com  

1400RHS Series Cane Probes 

PA
R

TS
 B

R
EA

K
 D

O
W

N
 

Rev. +, July 2009 

ITEM PART NUMBER DESCRIPTION QTY.  ITEM PART NUMBER DESCRIPTION QTY. 

1 C52404M KNOB 1  9 H50287M CAP SPLICE 5 

2 H50815M JUNCTION BOX, “L” SHAPE 1  10 H50336M TERMINAL PIN 5 

3 H50816M GASKET 1  11 H50534M-8B CABLE TIE 1 

4 H50817M JUNCTION BOX COVER 1  12 C52322A CLAMP 1 

5 H50796M REDUCER. 3/4” - 1/2” 1  13 D52321M CLAMP WELDMENT 1 

6 H50221M STRAIN RELIEF 1  14 H50114M SCREW, 1/4-20 3/4” 1 

7 H51011M COILED CABLE, 18 GA 1  15 H52324M SCREW, 1/4-20 3/4” 1 

8 H50271M 7-WAY PLUG W/ SPRING 1      

Standard Lengths: 
1400RHS-0015 
1400RHS-0020 
1400RHS-060 
 

Special custom lengths available upon request. 




